AS-10

IN—YUR

=20 A u By % %7 §

19

R CERE 5 8B & m M W E

1 20202-31090 | g ba—NRy 7 A 1

2 29202-31080 | H/N—f& -~ o 1

3 120202-31050 | ACV4 v b 1

4 20033-41080 | 2y v/ 1

5 29202-41030 | UKWV b 2

6 20202-41130 | A AA~—72 1

7 29202-41210 | A4 vF~—7 1

8 29202-41140 | &EI~w— % 1

9 129202-31060 | EE~-—7 1

10 |29202-41170 | 74— % —INVvT 1

11 |00980-41370 | BEz2—F (Q) 1 5m

12 | 20208-48411 d—FTya 1

13 | 20028-47114 | +— X J X 2 1/2

14 | 29202-41190 | V& w b 2 1/2

15 | 20030-46119 | A+ v T AL v F 2

16 | 20030-46120 | TAF ¥ v/ 2

17 | 01020-90610 | Fa RN b 2 M6 X10

18 | 01110-00508 | +Fifi /gD 2 M5 X8

19 | 06710-11900 | x— ANV F 3 419

20 | 06600-015200 | ¥ =— Wk — 2R 1 $15X18X 2 m

21 | 01280-00504 | AB&EF v b 4 M5

22 | 01400-00513 | 2NAHH £ 2 M5

23 | 20202-41240 | Wik HAE 1




(48]

ol maga-r | W & & B W% | W E
1 20307-31270 | k¥ T 57 v F(A) 1

2 | 20048-42390 | & 1

3 | 20307-41631 | UK 1

4 | 20033-41600 | ¥ A 7 AL v F 1

5 | 00930-40033 | 513&/ 3% 1

6 | 20000-41780 | 7S FREGAASA RN b 1 M6X12
7 1 01110-00316 | T+FARMFANFY 2 M3X16
8 | 01113-00308 | +FRfEF v 3 Y 1 M3X8
9 | 01250-00606 | Migfd+ v + 1 M6

10 | 01200-00324 | A"fFET v b 2 M3

11 | 01400-00307 | /NAHFH A 2 M3

12 | 01500-03015 | #¥ >~ 1 $3x15
13 | 0098041111 | &> HJa—F 1 L =050
14 | 2004141420 | =t— FHfre—2 1

15 | 00980-41120 | = — F 1 L =1200
16 | 2004141410 | k¥ 9~ — 2 1

17 | 0098041200 | v ¥avxy v+ ¥4 1

18 | 20033-41400 | a—F2 5> 2

19 | 2020241280 |t ¥ Hr—A 1

20 | 29202-31100 | £ H# T —4 1

21 | 20000-41750 | 7NAFHGARA RV B 1 M8X16
22 | 01200-00807 | A"FAF v b 1 M8

23 | 2920241120 | L&R 1

24 | 20033-41090 |z Vv 7 1

25 | 01000-00610 | ARAKRN b 1 M6X10
26 | 13201-41278 | 22— F/ ¥ K 3 L =250




